Whitman College

Econ 308

Exam 4

November 13, 2001

 

Write all answers in your blue book. Show all of your work. The exam ends at 9:55.

 

 

 

 

 

1. Consider the Keynesian cross model in which aggregate planned consumption expenditures, C, are equal to 200 + 0.9(Y-T), where Y is real Gross Domestic Product, and T=100 is taxes. Planned investment expenditures, I, equal 300. Planned government expenditures, G, equal 150. 

 

(a) (5pts) What is the equilibrium aggregate output, Y?

(b) (5pts) What is the expenditure multiplier?

(c) (5pts) What would happen if the savings rate rose to 0.2? Be explicit in your answer.

(d) (5pts) Suppose that the natural rate of output for this economy is 6000. What specific change in taxes would return this economy to the natural rate of output?

(e) (5pts) Suppose now that the natural rate of output for this economy is 5000. What specific change in government expenditures would return this economy to the natural rate of output?

 

 

2. Consider the IS-LM model in a closed economy.

(a) (10pts) Define and derive an IS curve.

(b) (10pts) Define and derive an LM curve.

(d) (15pts) Consider the effects of a tax cut in this economy. Explain why and how a tax cut affects this economy, with reference to helpful graphs. In your explanation, discuss whether the Keynesian cross model would have predicted the same results as you predict using the IS-LM model.

 

 

3. Suppose that an economy is producing a level of real aggregate output below the natural rate of output. 

 

(a) (5pts) Define the natural rate of output.

(b) (25pts) Consider the Keynesian sticky wage model. Suppose economic policy makers decide to cut taxes and loosen monetary policy. Describe the effects of these policies. Refer to an Aggregate Supply &endash; Aggregate Demand diagram in your explanation. (You do not need to derive the Aggregate Demand curve.)

 

 

4. (a) (5pts) List the various sources of lags in fiscal policy.

(b) (5pts) Does monetary policy involve a lag? Explain.

